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Quadratic polynomial is Verification:
Po2r-8=r—dr 4 2-8 Zeroes are -2 and 4.
=-2andp =
se-frde-y o+ p = CocHicent ofx
=(x+2)(x-4) - = DO

coefficient of x*
-2)

verified.

- constant term

So, zeroes are - 2 and 4 because

value of x? - 2x - 8 i zero, when

x+2=0=x=-2 i
coefficient of x”

or x-4=0 %
= x=4. A@=5=-8
—8=-8 verified.
(i) 45’45+ 1=45*-25-25+ 1 Verification:
=25(25-1)-1(2s-1) a=lp=1
=@2s-1)(2s-1) 2772
So.zerocsare 3 and &, becavse the - a +p= - ocfficient of x
22 coefficient of x?
value of 45 - 4s + 1 is zero, when 1.1
2-1=0o2=1os5=1 272
2 1=—(-1) =1 verified.
1
or B-1=0=s=3 _ _constant term
op = SoTEA T
coefficient of x*
(iii) & -3-Tx=6-Tx-3
=6t -9 +2-3
=3(2x-3)+1(2x-3)
=+ 1)(x-3)
So, zeroes are ~ and
: 372 _ 2D _ _coefficient of x
because the value of 6~ 7x - 3 is 6 coeficient of x*
zero, when
and
W+1=0=x
He3=0mx = constant term verified,
(v) 4+ Bu=du(u +2) Verification:
Zeroes are 0 and - 2, 50, value of =0,p=-2
4u? + 8u is zero. when 5 a+B=0+(-2=-2=-%
u=0=>u=0 _ coefficient of u
or  u+2=0=u=-2 —
coefficient of u?
and B =0(-2) = %
- constant term verified.
coefficient of u? )
® £o15=2- (JI5} Verification: .
a= = /15
= (- /15)(+ /15) . : 0
" =0=-Y
So, zeroes are V15 and -/15, 1
because value of >~ 15 is zero when - coefficient of ¢ ey
(-V15=0=1=Y15 coefficient of 2
o 1+/15=0=1=-V15 and  af=(-/15)(/15)
-15
=-15="—""
=
- constant term ified.
coefficient of 1
(vi) 3P ox-4=3-dr+ -4 Verification:
x(3-4) + 13- 4)
= (-4 @+1)
So, Zeroes are & and -1. o a+p=teen=lio
3 3 3
because value of 3¢ —x - 4 is zero, — coefficient of x ..
4 = 2SRRI verified.
when  3-4=0 = x=3 coefficient of x’
or x41=0 > x=-1
- constant term verified.
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(i) Let the zeroes of polynomial be a and B.

Then, a+B="1and ap =-1

Required polynomial is given by,

X2 = (a+Bx + o = x2 - I + (-1)
b1

(ii) Let the zeroes of polynomial be a and B
Then, a+pB=+2andap =1

Required polynomial is:

X (a+px+ap=x2—2x+}

32— 3V2x + 1

(iii) Let the zeroes of the polynomial be a and B
Then,a+B=0andap=+5

Required polynomial

2—(a+B)Xx+ap

=x2-0xx+V5=x2+5

(iv) Let the zeroes of the polynomial be a and B
Then,a+p=1andap =1

+. Required polynomial

2—(a+B)Xx+ap

=xox+1

(v) Let the zeroes of the polynomial be a and B.
Then,a+B=-tandap=1

~ Required polynomial

2—(a+B)Xx+ap

K- (4)+1

= 4+x+1=0

(vi) Let the zeroes of the polynomial be a and B
Then,a+B=4andap =1

« Required polynomial = x2 -(a + B)x + af

2 dx+1
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The number of zeroes of p(x) in each graph given; are
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This graph shows p(x) has
no zero.
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This graph shows p(x) has
three zeroes.
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This graph shows p(x) has
four zeroes.
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This graph shows p(x) has
one zero.
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This graph shows p(x) has
two zeroes.
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This graph shows p(x) has
three zeroes.




